1500 mm
1)
= 200.00 m
= 4.00 m
GL 1.00 m
= 1.80 m
p= 20.00 m
hfl = 0.0948 m/m
= 0.03 0.02 = 0.05 Mpa
pl= 1.200
2 1
100x%
2 1= p 20 x Hi -
p1l
(200.00 + 400  + 180 + 20.00 20) x
100 x 0.05
( 400 + 180 ) + ———————
1.200
21.67 m
1
> 1(m) (m)
21.67 20 100 22kw
25 100 30kw o

0.0948



= 5.00 m

hf2= 0.1062 m/m

p2= 1.233
> 2
100x
> 2= p 20 x hf2 _
p2
( 200.00 + 4.00 + 1.80 + 20.00
20) x 0.1062 + 4.00 + 1.80
100 x 0.05
1.233
33.38 m
2
> 2(m) (m)
33.38 20 100 22kw
25 100 30kw o

+

5.00

5.00



(n1)
2h = 25.00 m
xh = 13.50 m
1
100x
p 20 x hf2 —_ 2h xh
p2
{ ( 200.00 + 4.00 + 1.80 + 20.00 +
100 x 0.05
x 0.1062 + 4.00 + 1.80 + 5.00 - —————
1.233
- 25.00 } 13.50
0.62 - 1
(n2)
NPSH 8.1x "2/3x "4/3x 10"-5 1.708 m
= 1.680 m3/min
= 1350 RPM
2 = 3.069 m/min
= 9.8 m/sec?2
2
212 10.09 100x
2 NPSH 2.0 x hf2 ——1— ———— xh
29 p2
= ( 8.1x 1.68 "2/3 x 1350 M4/3 x 105+ 2.0+ 200.00 «x
3.069 "2 10.09 + 100 x0.05
+ —-—— ———— ) 13.50
2x 98 1.233

5.00 +20)



13.50

0.1062

127.12 m

= 0.98 - 1
n
(m)
13.5 100 11kw 4P
2 n
A
2 n
o o
1
10.09 100 x 22
————————— NPSH 2.0 _ hf2
p2 29
10.09 + 100 x  0.05 3.069 "2
——————————— 1.844 2.0 _
1.233 2x 9.8
74.52 m
xh  hf2

0.1062



3 NPSH

NPSH 8.1x "2/3x M/3x 10"-5 1.844 m

1.680 m3/min

1430 RPM



